cdokaor

The Formwork Experts.

Standard type

Safety Net Fan -

610¢/¢| - 89-Ud 20627666

94429-200-08

94429-200-07

94429-200-13

o

94429-200-04

94429-200-03

94429-200-02

94429-200-01

7
S
= O
o D
=
o O
D v
1 &=
>
=
mg
- —
2
< =

|

I

Mab
= -
=
g =
o
o0

94429-100

N

Needed Tools

Extension leg 0.75m SNF2 or
Extension leg 1.50m SNF2

Art.-Nr.: 584771000
Art.-Nr.: 584770000

£
£
=
N
~
£
&

nnv -

a »

5 2

£ g

10} [=%

= (7]
[+
&
-
D

5 £

E 7

E P

]

== =

(7]

S

[-5)

RN

- - s ]

[-4)

= £

S E

TS

(<=

N AN

L

=

77

£

19 AN

N &/

=)

[P =]

bO

S R

-~

w3

&3

S U

o=

8%

Lifting sling SNF2
Art.-Nr.: 584784000

Bolt M12x90 + Nylok nut M12

H
1pcC

ARKRXXXY
ARRRANN
RGN
ARORXORXKN
ARSI
YRR X

Safety net fan 3.10x5.85m SNF2 or
Safety net fan 3.10x4.00m SNF2

Art.-Nr.: 584760000
Art.-Nr.: 584761000

7))

&)

Q.
9\

£
5
o oN
MMOO N o
L
SSmm Nm
L] mmsw w
N AN o O
= S i 2w
= | §8%= EE
QS O£ L = £
___ mmEs ==
N
S &
(=] =
L ] wn
N E
wed S
| S ﬁ (=]
= ~
(3] =)
ol z 5
8s 58
d ...ub.no Q ©
g =S
| =% 85
a3 =)
=] = @9
D) 2= S
Q| &= Sz
N < < o<
*
=
o] Ted o o
o 0
S22 |3 | |2 B
= ©
k=
9]
E
.m. o o o o 5}
= e e R I
o I e} o ©H
Q
<
[72]
o
te} te) 0 n =
NN NN 2
T o o o oS =
= + + + +H 5
o [te} o 0
2 8|8 |8 |8 &
™ ~— 3o} — o
%
€
o]
o
= S
m w0 o Yo} o
= © | Q| X e =
© [t} < [t} < o O
o
5
>0 [ |w|w|w 3
e R IR Q| & 35
m- o~ o~ ) ™ Q%
<o

L0000
N
QOOOOOOOOOON S
A0
FROCOOOOOOIRXY Qb
AROOOOQOOOONR) e
ORI
QOO
SO0
RN
AN

NN
A0 OO
0

OO
RO X

OOV

\o:::

429-200-11

OO

N

QOQUOQN
\%::o:?oz

\
Y
A TN

QOOReRR RTINS
AR
AN
OGO
QO
QOO
R
BRI

GANS »

:::oﬂ/:\s °

SR
l::ot.

Q

.oo:o )

W

(]
(]
AN
QO
AL
AN
\ QOVOOQONN
IR
AR,

429-200-11

\ N
N
ORI S
00000000000
QRO
AR
AR
Y
AN
AN
AR
OO
RO
AR
R
AN o
/R RRRRRRRR
AR
K ..:::.:........... N
L0000 /
{/
QR
AR

\
A
R
WX

0
W

The 60x60mm net layer (black)
has to be on the bottom side!

AR

NN

A\

O
QUO ¥
LA

0

Q Vi
O ..Mu
G

W
ooooo:: X

D
......:3.
W

Y
) ..N\

Make sure that all connections

are fully tightend before you

move the SNF unit to the

structure!

94429-200-09

94429-200-09

94429-200-10

94429-200-06

94429-201-01

A

94429-200-12

94429-200-05

Make sure that the correct attachment application
(project specific) is already fixed onto the building

structure to fix the SNF-unit. Please follow the
instructions according to the actual user information

and check the safety regulations in your country.

=
2
=
©
£
T
S
o
=
T
@
7]
3
)
=
=
©
@
o
D
)
S

www.doka.com/downloadcenter




cdokaor

The Formwork Experts.

Safety Net Fan -

Standard type

610¢/¢| - 89-Ud 20627666

94429-200-08

ﬁlln

“®

94429-202-02

94429-200-13

Knee brace

Assembly - Sequences
using

o

94429-202-03

94429-202-01

94429-200-02

94429-200-01

Body Type

94429-100

N

£

£

~

/ Ny

£

£

s 2

& %

- [-5)

s &

,:./ﬁ MW

=

D

= £

g 2

E S

== =

£
S

(7]
=| &,
T | SE
D Ao &
=2 B
|5k
2|2

Lifting sling SNF2
Art.-Nr.: 584784000

m Bolt M12x90 + Nylok nut M12 E

Supporting shoe SNF2
Art.-Nr.: 584782000

g
.
",
KXY
LX)
AR
QXXX
LREXNEK
\”o“o“ouo“o".“%“o“o“o"oo
BRI

R
AR
N
KRN
KRR
KRR
0K
RN
0Ky
QX0
XY

Safety net fan 3.10x5.85m SNF2 or
Safety net fan 3.10x4.00m SNF2

Art.-Nr.: 584760000
Art.-Nr.: 584761000

Knee brace SNF2
Art.-Nr.: 584775000

2pcs

Wind lock SNF2
Art.-Nr.: 584778000

7))

&)

Q.
9\

N
L
=
(7]
£
£
(=]
s ©
NN =)
Lo Mmm °
%%SS g3
0 D Q. ©
s E Eco S~
o O N~ N~ (=) N~
" — N A DS o3
= a0 e @7
S| 5522 E
S O =)
__. ook k =
(= N N
&
L ] o
L
[72] =
el o wn S
| S L hm AWWWWWWWWWWWWWWWWWWWW
3 S
_— <
Q| 55 T3
23 23
=] » 3 SR
(«b) >5 =5
>} ©
S| £ £ 5
o o
L 8= 5=
D N —
"“mmmm“" < < o<
b=
5 | v o o
=) T}
S22 |3 | |2 B
= ©
k=
[}
E
.m. o o o o 5}
= D e i A
o (e B T e T P I =1
Ne)
©
[72]
o
0 0 | v n =
NN NN 2
-mm. o o o o =
= +H + + +H 5
o 0 | o 0
2 8|8 |8 |8 &
™ — ) - @
Q.
IS
Q
[&]
= S
mm w0 o Yo} o
= © | Q| X e =
© [t} < | ©w < o O
o2
5
>0 [ |w|w|w 3
e R IR Q| & 35
m- o~ S e} QL
<o

The 60x60mm net layer (black)
has to be on the bottom side!

A\

00
&aaaawf

OO0
SO
J/RNNN000NS
AN
AN
AN
R

\:::::::..:.
,:aaa&wu..%%%%%QQy%f.

{ W
RO
AR
KBRS
/KRR
QR XTLONO
ALDRRRR T NS
A RN/
R RN
OO
QKR
KROCKORS
LR/
OO0
R
ORI
NN
NNz
QKT
QORI
R
OO

QY oo.os\

0

S

W
QN
fw\.\.

/000
A0
,w&mwwqu,.
R
(XA
OO
OO0
QOO
O
LOOOORGOOOOOOOORR/
Rl
OO
AR ORCKOOKY
AR A4
RO
RN
NN
AN
RO ONY/
R
OO
O3
QOO
RO
QOGO
QOOOOOOOONONX
OO
O
QOO AR,
QORI
QOO
QOGN
QOO
QOO
QOO
QX
Q00
OO0
0
Y

R
D
AR
A0
R
N

AN

o~ 94429-202-05

O

94429-202-05

Make sure that all connections

are fully tightend before you

move the SNF unit to the

structure!

94429-200-09

94429-200-09

T sa429-200-04

94429-203-01

94429-200-12

94429-200-05

Make sure that the correct attachment application
(project specific) is already fixed onto the building
structure to fix the SNF-unit. Please follow the
instructions according to the actual user information

and check the safety regulations in your country.

<]
=
=]
-]
(]
=
[=3
[
=
——
[=]
[
[ 2]
-]
=]
©
P
]
-
[ 2]
[=]
(=3
2
=
[

respective user information!

www.doka.com/downloadcenter



	Seite 1
	Seite 2

